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Last time :

Xn+z
- 4Xnx + 4xn = G

(2 - 4 N + 4)(Xn) = 2

Guess Xn = -" is a solution---

-r =4 + 4 = 0

( - 2) = 0
,

- = 2
,2

Xn = 2" is a solution,

Xp = C
,

2.

Think of it--- (5-2)(f- 2 4) = 0







Try this

(0-2)(u -2) (n24) = G

m
(r-2)(n2))

- (n + 1) 2
"
- 2 (n2)

- 2Y((n+1)2 -2n)
- 24(2) ⑳
12 (t-2) (2V · const) -









Ynz -4Xn + 4Xn = 0

in = ( *=]
in = [*E] = [*] (i)
So if we lock for eigenvalves :

det )x-I-[4 , ])
-de:" = 6 -1 + 4 = 0











(25)"+ (i)(2x)")- 1)

+ (2)(zI)*
&

- ....

- 2"I - 2"(,) I

t
O

Note : Correction to notes

was made on Feb 12
,
indicated

in red
,
thanks to Anon

. Beaker

on Piazza.


